F.Y.

July 2017

Reg. No. ..ccoreeriereeeeeeceeeeccneens 833

First Year Higher Secondary Improvement Examination

Part - 111
SOCIAL WORK
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Cool off time : 15 Minutes

\

There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hrs.

You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

f General Instructions to Candidates :

Use the 'cool off time' to get familiar with questions and to plan your
answers.

Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from
the same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.
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1. According to Mac Iver, 'the web

of relationship'is known as .........

2. The method of social work used
to find the solutions to mass
social problems through

propaganda, public opinion and

collective support is ............

a) Social Case Work

b) Social Action

¢) Social Work Research

(1)

d) Social Welfare Administration (1)

3. Who is considered as the first
professional social worker in

USA?

4. Toll free number of 'Child Line'

b) 1098
c) 1097

d) 1095
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Which among the following

activities comes under
correctional social work?

a) Labour Welfare

b) Probation Service

c) Motivation Counselling

d) Mental Status Examination

The process of organizing and
analyzing information received
by the sense organ is ..........

a) learning

b) sensation

c) perception

d) assimilation

Yesudas is a world famous
singer. His career is developed
out of his innate potentials for
music. We call it as .........

a) attitude

b) aptitude

¢) interest

d) motivation
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8. Among the following which one
is a TRUE statement?
a) Regression is the
suppression of unpleasant
experiences to unconscious
mind.

b) Regression is the reversal to

earlier stages of life.

9. The ability to accept others as
they are is known as ............
a) sympathy
b) apathy
c) empathy
d) honesty

10. The theory of Psycho Social

Development was proposed

a) Sigmund Freud
b) Howard Gardner
¢) Erik Erikson

d) Jean Piaget

11. Which among the following is
NOT the characteristics of social
work as profession?

a) Voluntary work
b) Scientific body of knowledge
c) Authority

d) Formal training
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12.

13.

14.

15.

16.

17.

The newly married couple
learned to adjust with each

other's culture is an example

a) competition
b) cooperation
¢) assimilation

d) conflict

Write a note on Elizabethan

Poor Law.

Identify and list out any two
areas where a social worker can

work with school children.

How can you convince a person
that the professional social work

1s not social service?

Develop any two strategies to
prepare the students of your

school for facing disaster.

Analyze any two harmful effects

of corruption in our society.
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18.

19.

20.

21.

22.

23.

24.

Illustrate motivation cycle.

Identify the various steps in

decision making process.

Draw a flow diagram showing
different methods of social

work.

Adolescents are expected to
develop critical thinking skills
to avoid risky behaviour. Find
out few risky Dbehaviour
situations where adolescents
need to apply critical thinking

skills.

How social legislations are
helpful to maintain order in a

society?

Prepare a time line showing the

history of social work in UK.

The

intelligence

multiple
by

Howard Gardner is very much

theory of
proposed

useful for planning the career of
an individual. Examine the
importance of this theory in the

career planning process.
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25.

26.

27.

28.

Examine how the theory of
personality structure explains

the human behaviour.

Farmers are the backbone of our
nation. Suggest few measures

for farmers' empowerment.

What is socialization? Explain
the role of different agents of
socialization in the
transformation process of an

individual.

Communalism is spreading as a
cancer in our society. Explain
the causes and consequences of
communalism and suggest few
measures to control it.

OR

Analyze the causes and
consequences of any one of the
following problem with the help
of 'problem tree analysis'
method.

a) Unemployment

b) Child Labour
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